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Note to self: Find the "upload answer" questions on WebAssign and get rid of them.
1.7 #s 12, 22
1.6 #30

The above WebAssign Exercises now count zero points. I left them in the assignment, to keep

the Notes and Videos aligned with the

Give me advance warning, and I'll hook you up at other campuses.

G, 7) No info on f(5), itself. We just know it

approaches 7 from the left and 6 from the right.
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4. (5pts) Sketch the graph of a function that satisfies all of the conditions:

lim (f (x)) =4, lim (£ (x)) =5, lim (f (x)) =0, lim (f (x))=7.with f(3)=4 andf(6)=11.

x—3" x—6"

(’55\ ;?("1‘
Z—\'. (.q,l\.\) :
=0
: x> +x—6
a. (5pts) lim
(5 pts) r—>3[x2—14x+45]
Xbx-0 - (u-ﬂ[m’ﬂ x —> 3‘» O(\f] - ?'L -6
Uy (x-q\(y-s'3 IEACAN
: 2 4 x—6
b. (Spts) Iim 2x -

ax-e - x FD(w=3)  x—35 A/; A

oy 3 Y ) (x -2 (x-S)



250909-notes.notebook September 09, 2025

3. (5 pts) Prove that liITl(.‘»'L‘2 +5x-7) :@
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